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G / MATHEMATICS
el - IX / Class - IX
faif@®@®= ;3 hours 3fereRdy 31k : 90
Time Allowed : 3 hours Maximum Marks: 90
ot :
1. gsff we 3tfard € |
2. YE TE U YA E, N AR @uel 1, o, G a T H i T T @US-AH 4T &

T8 ek 1 37k 1 &; WUS-a 4 6 997 & 58 Ycieh h 2 37k &, @US-A H 10997 ©
S8 gk & 3 3fek ©; 9T @ue-g H 11 Y94 & o0 ucdeh & 4 37k €|

3. 39 99 931 H IS foehey &l B

4. FeTFIe T TN dfeid 7 |

General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

Use of calculator is not permitted.

@UE-37 / SECTION-A
U §E&A 1 4 H YT 1 1 3 2

Question numbers 1 to 4 carry one mark each.

1 T I A U 1 god T 70 WA fa #1 Al wEm gen g y ferer qen SHet #iHd T x L
g, A 3@ T W 9 foeh FHiew & w9 § fafey

The cost of petrol in a city is ¥ 70 per litre. Find a linear equation in two variables where y
represents number of litres of petrol consumed and X x is total cost.

2 o Tl x —2 =0 g 319 & TR 72 1
Linear equation x —2 = 0 is parallel to which axis?
3 Teh THHI i TEAT HifSIT 3R 5Eeh GAfgHSTR Eifda | 1

Construct a right angle and draw its bisector.

4 Ife Teh o1 o AT 1 GEATHE T 9k I¥d TR &hel o seR B, I 39k fhaR &) o 1
T hifeTT |

The volume of a cube is numerically equal to its surface area. Find the length of its edge.
EUs-d / SECTION-B

9 &1 59 10 § YF & 2 3iF B

Question numbers 5 to 10 carry two marks each.
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5 3 g opfd H, ABCD T ¥Wi@ =gysl Tl Afc L1=,2 3R B3=,4 T, @ BT fF ar 2
ADAE = ar(ACBF) %l

e

In the given flgure, ABCD is a parallelogram. If £1=/2 and /3=./4, show that ar
ADAE = ar(ACBF)

e

6 mﬁrﬁ WPWQWQ%RWSWWM%WW%APRQ /PSQ R 2
R

)

In the figure two circles with centres P and Q intersect at R and S. prove that ZPRQ = ZPSQ.

5
7 SHIUATISh o FANT H 45° 31 10 T3 | TWhR shi WS 9, T HAIGHITSTA i | 2
Draw an angle of 45° using protractor. Bisect it using compass.

8 Teh Yohaehl odd, fSaeh STER 1 5541 5 cm 31X fadfer 9 13 cm €, 1 3799 99 ST |
(r=3.14 Fi“\aﬂ)

Determine the volume of a conical vessel having radius of the base as 5 cm and its slant height as 13
cm. (Use m=3.14)
9 Teh 918 I 600 IR ThehT ST & @ U IRl 1, 2, 3, 4, 5 3R 6 ! IRERAW < GRot § R E 2

gfom | 1 2 3 4 5 6

IReRdr | 60 90 175 68 50 157
iferehdT JE ShifST foh 3TTelt SR 9T Shahd WX
()  H9 EE A

(i)  forom HeAn s

A die is thrown 600 times and the frequencies for the outcomes 1, 2, 3, 4, 5 and 6 are given in

the following table :
Outcome 1 2 3 4 5 6
Frequency | 60 90 175 68 50 157

Find the probability that in the next throw of dice :
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(1) even number will come.

(if) odd number will come.

drareft % eraer W faafia fore 7T g% we % 10 fessii % arafaw ar Frefafea &

4 kg 798 g, 4.795 kg, 4.805 kg, 4.810 kg, 4.825 kg, 4.801 kg, 4.798 kg, 4.800 kg, 4.800 kg 3R 4.817

kg.
T O T e agfeas T @ A1 A1 T 1 SHH WA A1q hifg {3
() TR IR 4 kg 800 g § e T |
(b)  THHT 9K 4.800 kg A1 5T HA T |
Following are the actual weights of 10 boxes of dry fruits distributed on the occassion of
diwali;
4 kg 798 g, 4.795 kg, 4.805 kg, 4.810 kg, 4.825 kg. 4.801 kg, 4.798 kg, 4.800 kg, 4.800 kg and
4.817 kg.
A box is chosen at random. Find the probability that :
(@) its weight is more than 4 kg 800 g
(b) its weight is 4.800 kg or less than it.
EUs-Y / SECTION-C

9T G 11 9 20 H IH ok 3 3k ¢ |

Question numbers 11 to 20 carry three marks each.

X+2=0 & ax+by+c=0 % ®9 ¥ fdfaq qen a, b 3R ¢ & 74 fofew) @ @
o1 Eifau)

Write X +2 =0 in the form of ax + by +c¢ = 0. Also write the values of 4, b and c. Draw its

graph.
forelt TR H 2ot o1 foRren F11 W @ R ¢ Rl feRaieR o1 R T 15 © IR 369k @G i gl

faw wfa fereiiex =1 forran T 7 €1 afe @ &t 7 g0 x foRaiivier 21, oIk Fa fomemn 2 y &1, 1 s5eh
e s g fafae o) 39 e Eifau |

The auto fare in a town is as follows : For the first kilometre, the fare is
< 15 and for the subsequent distance, it is T 7 per km. Taking the distance covered as x km and total
fare as X y, write a linear equation for this information and draw its graph.

Teh WWRIUS AB=10.4 cm TIf9T | TR 3T TWhR hi T 9, %ABaﬁaﬂﬁm

Draw a line segment AB=10.4 cm. Find EAB, using ruler and compass.

3TMHf W, Tk I9 I ST AB 3R CB % O & wAg ¥ 1 fag #ifST f% =9 DB, ZABC @R
ZADC %l Tafgfer s ¥ |

5 <D

C
In the figure, AB and CB are chords of a circle equidistant from the centre O. Prove that the
diameter DB bisects ZABC and ZADC.



4&

15 PQRS@HEI,‘&W%l fiig S ¥ PR % THIG ©I= T @1 QR &1 sl W X W fierd §1 awisy & 3
ar (PQRS) = ar (APXQ) |
P Q

A7

X
PQRS is a quadrilateral. A line through S parallel to PR meets QR produced in X. Show that ar

(PQRS) =ar (APXQ).
P Q

X
16 Teh SRR 2R i 5591 100 cm ©1 38! Tohan forex ot it efdar €2 8ok ok YS9 3
gthel |t 1 RIS

How many litres of water will a hemispherical bowl of radius 100 cm contain and find its
curved surface area?

17 = IRERar e H T ad TR sied 9ol § Sefer 3

it A | FRIRaAT

150 - 153 7

154 - 157 7

158 - 161 15

162 - 165 10

166 - 169 5

170 -173 6

153.5 3R 167.5 for siavel o wfmfaa 8 ?

Convert the following frequency distribution into a continuous grouped frequency table :
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Class - Interval | Frequency
150 - 153 7

154 - 157 7

158 - 161 15

162 - 165 10

166 - 169 5

170-173 6

In which intervals would 153.5 and 167.5 be included ?

w

18 J el w1 "qeg 50 ¥ 1 Afe T He i 3R foren S, |1 ’1ed 55 81 S § 1l e HeH T i 9
HifsTa |

The mean of 9 numbers is 50. If one number is included, their mean becomes 55. Find the

included number.
Eus-q / SECTION-D
TR TN 21 431 H T & 4 30 ¢ |
Question numbers 21 to 31 carry four marks each.
19 et |eieRtoll o Tk &t ATl 2fie W o Eifey - 4
x=0,y=0,x+y=3.
ERRSCISIRS] ’r‘sm &t T T ehifeTy |

Draw the graphs of the following equations on the same graph sheet :
x=0,y=0, x+y=3. Also, find the area enclosed between these lines.

20 < Hemsl & o #1 3iAR 3 §1 3 feu g SATRel B < = dell U s gHiei w9 o
fafa| 3@ o w9 9 off f1efua vt aft S8 9 8 €, @ et 9 9 € §E &
HM 1 HIFT

The difference between two numbers is 3. Write the given data in form of a linear equation in
two variables. Also, represent it graphically. If smaller number is 8, then find graphically the
value of the larger number.

21 AEFG &t A1 shifsie, 98 /F =60°, /G = 80° 31X 9™ 13.5 cm B 4

Construct AEFG in which ZF =60°, ZG= 80° and perimeter is 13.5 cm.
22 ABCD T & g foreien foshvl O W ufa=ag % €1 ar(AAOB) : ar(ABCD) &1 UReherd FifT |
D C

N

N

(@)

A B
ABCD is a square whose diagonals intersect at O. Calculate ar(AOB) : ar(ABCD).
D €

(@)

A B
23 fag wIfST T 99 % fFel =9 g1 g W fafka 1o & =" g’ 99 & 99 90 R feoyg foadt o 4
faig W afafia ror 1 T Ban §

Prove that the angle subtended by an arc of a circle at the centre is double the angle subtended
by it at any point on the remaining part of the circle.
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24 (@) 10 X =T TN 8.4 W T Tk F3T @ie1 T | 399 Fepedt figt & FU & wR”f of) 7 Hfiex. 4
ISt A IE M| 2heR A Wk AR JaRR 4 I9M & foTw o T 500 Wi HieX @t <X
¥ U R A A S9E WAl | IR 4 A &l SHoE 2 HeX o | FaRT IheR A ferat
ANTA A4 S |

(b)  Hefud AR 7§ ITh IR i THRR Heh AE HL fea | 598 F A 8- ShSR a1
safepr ? femoht Sifsw )

(1T=%'°|'TTWT eIy )

(@) A well having 10 m inside diameter is dug 8.4 m deep. Earth taken out of it is spread
all around it to a width of 7 m to form a beautiful embankment. Find the height of the
embankment. The contractor charged I 500 per metre for digging and making the
circular embankment on its total height of well and embankment. He measured the
height of the embankment as 2 m. how much extra money he made.

(b) The concerned officer accepted his calculations and paid the money to him as

demanded. Who is guilty-the contractor or the officer ? Comment.

(Usem = 27—2 )-
25 Teh 10 m TeX FU & TR Tk T8 R U2 W 1 A9 3300 1 A U2 LA ot W30 A m2®, 4
LERETISEE
(a) ST ok TR & |
(b)  FUH AW
©  F¢H wfan
It costs X 3300 to paint the inner curved surface of a 10 m deep well. If the cost of painting is
at the rate of ¥ 30 per m?, find :
(@) inner curved surface area.
(b) diameter of the well.

() capacity of the well.
26 Teh TR oh 1 T, dek 3R = s 150 cm, 120 cm 3R 110 cm &1 39 3 & 3R 4

129600 cm® WHT @1 8 3ieX Tl ameft 100 $¢ <redft 78 fsffeht fmmd 20 cm x 10 em x 10 em €1
7S YA 32 ST AR ol %ﬂm@l@é'cﬁ%, i ¥ H U 1 Hae fRaT S 38 ST 2
The length, breadth and height of a cuboidal tank are 150 cm, 120 cm and 110 cm respectively.

The tank has 129600 cm® of water in it. 100 porous bricks each having dimensions 20 cm X 10
cm X 10 cm are placed in the tank. Calculate the rise in the water level of the tank, if each

brick absorbs % of its own volume.

27 &1 IX & S FaRFT & 30-30 foreneff wforg shifaforare o 913 | 7 g1 9™ & 39 YK & 4
46,31, 74, 68, 42, 54, 14, 61, 83, 48, 37, 26, 8, 64, 57,
93,72, 53,59, 38, 16, 88, 75, 56, 46, 66, 45, 61, 54, 27,
27,44, 63,58, 43, 81, 64, 67, 36, 49, 50, 76, 38, 47, 55,
77,62, 53,40, 71, 60, 58, 45, 42, 34, 46, 40, 59, 42, 29,
T4 9 e faeneff arg=san <1 e | wifeRar 9 ity fon 59 fomneft & o -
()  59% afees €|
(i) 49 ¥ e wg 100 F FA
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Two sections of Class IX having 30 students each appeared for mathematics Olympiad. The
marks obtained by them are shown below:

46, 31,74, 68, 42, 54, 14, 61, 83, 48, 37, 26, 8, 64, 57,

93,72,53,59, 38,16, 88, 75, 56, 46, 66, 45, 61, 54, 27,

27,44, 63,58, 43, 81, 64, 67, 36, 49, 50, 76, 38, 47, 55,

77, 62,53, 40, 71, 60, 58, 45, 42, 34, 46, 40, 59, 42, 29,

A student is selected at random. Find the probability that student selected from the class is:

(i) having marks more than 59

(if) having marks more than 49 but less then 100

28 9 o=l @ g1 T R fuee g # SR fRad s et %t S| | T ufomm 39 YR § 4

1,6,2,3,5,12,5,8,4,8,

10,3,4,12,2,8,15,1,17, 6,

3,2,8,59,6,8,7,14,12

Tt Ak 5 @t SR Th ol FAUA Hl 5-10 AR 34 AThel i Teh aFfihd ARERAT He HqRUT
FARE | G o7 ot Eifgw |

feham o=l 4 T | 15 5 ¥ Y el @ ?

Thirty children were asked about the number of hours they watched TV programs in the
previous week. The results were found as follows :

1,6,2,3,512,5,8,4,8,

10,3,4,12,2,8,15,1,17,6,

3,2,8,596,8,7,14,12

Make a grouped frequency distribution table for this data, taking class width 5 and one of the
class intervals as 5-10. Also draw histogram.

How many children watched television for 15 or more hours a week ?

EUS-I/SECTION-E (Jh 913 /Open Text)
(*uan gifad w o 6 Swdsa fava &1 qaa TsIEmIt 39 IS & 919l G ?)
(* Please ensure that open text of the given theme is supplied with this question paper.)
fasa  : aRgEen # Sy, d' -
Theme : Quadrilateral in Architecture, WAH TAJ.
29 & T emRfd H AABC T /C HHFIU T AR 3HHRT ST AB 3R BC, 100m 3R som ¥, @ 3

AAMD T IRHTT H1G HIFTT, Safh M IR D qemeti AB 3R AC & Aea-fag &)
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In the given figure of triangle AABC, right angled at £C, If its sides AB and BC are 100m and 80m, then
find the perimeter of AAMD, where M and D are mid-points of AB and AC respectively.

30 & T stepfa ® AfX AD, Ac® Hea-fag E R F €, @ fag Ffw % wqds DeFE® HIoW #1 3

I 360° B
= { EK N—EN | '
il = 7= s
il ._// 0. il X __[u \
, / S E ~ ‘._.\
H nnaanannnninil

B k LI
In the given figure of AADC if E and F are mid-points of AD and AC then prove that sum of angles of
quadrilateral DCFE is 360°.
31 fag wifwie fF wwe ABep (fo= fEw) o afx weft eneti & #=A-fagew &1 %9 ¥ faamen 4

WU 39 YR S AR T T SqHe 2

Q / ) \ Q
5 1t Yool oot A 1 W

\
Y

¥

o]
rm

S
=
p=3 ¢

iNisndadiEnnaRaRa Enanan Nnnnnuni
Prove that in trapezium ABED (see figure), if middle points of its all sides are joined in order, then
figure so formed is a parallelogram.

-0000000-
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